| Respondent Type   | Requirement     | # of Respondents | # of Responses | Hours/Response | Total Hours | Description   |
|---|-----------------|------------------|----------------|----------------|-------------|---------------|
| Section A: Burden by Affected Entity  |                 |                  |                |                |             |               |
| Federal Government  |                 |                  |                |                |             |               |
| Individuals or Households   |                 |                  |                |                |             |               |
| Sub-total   |                 | 0                | 0              |                | 0           |               |
| Private Sector  |                 |                  |                |                |             |               |
| Business or other for-profits   |                 |                  |                |                |             |               |
| Proprietary institutions - developing a process<br>o record student identifier information for<br>student who began or completed an<br>occcupational program and identify the<br>institutions location, identify CIP codes for<br>orograms of study, the process to record<br>completion dates, the process to record<br>amounts of private loans and institutional<br>inancing, and the process to determine if a<br>student has matriculated to a higher<br>credentialed program at the same institution or<br>another institution. | 34 CFR 668.6(a) | 1,950            | 1,950          | 12             | 23,400      | Recordkeeping |
| Proprietary institutions - for students who begin<br>attendance in a program leading to gainful<br>employment, the reporting of student identifiers,<br>he location of the institution, and the CIP codes<br>or the programs during the 2006-2009 period<br>3 AYs)  | 34 CFR 668.6(a) | 5,989,779        | 5,989,779      | 0.03           | 179,693     | Reporting     |
| Proprietary institutions - for students who<br>complete their program of study - the reporting<br>of CIP codes, grad dates, amounts of private<br>and institutional loan debt, the amount of title<br>V, HEA program debt, and whether the student<br>natriculated into a higher creditaled program of<br>study at the same or another institution for the<br>2006-2009 period (3 AYs).   | 34 CFR 668.6(a) | 976.248          | 976.248        | 0.08           | 78 100      | Reporting     |

| Proprietary institutions - for students who begin<br>attendance in a program leading to gainful<br>employment, the reporting of student identifiers,<br>the location of the institution, and the CIP codes<br>for the programs during the 2009-2010 period<br>(1 AY)   | 34 CFR 668.6(a) | 1,996,593 | 1,996,593 | 0.03 | 59,898  | Reporting     |
|--|-----------------|-----------|-----------|------|---------|---------------|
| Proprietary institutions - for students who<br>complete their program of study - the reporting<br>of CIP codes, grad dates, amounts of private<br>and institutional loan debt, the amount of title<br>IV, HEA program debt, and whether the student<br>matriculated into a higher creditaled program of<br>study at the same or another institution for the<br>2009-2010 period (1 AY).  | 34 CFR 668.6(a) | 325,416   | 325,416   | 0.08 | 26,033  | Reporting     |
| Proprietary institutions - reporting of SOC codes, O*Net info and programmatic cost info   |                 |           |           |      |         |               |
| via the institutions Web site  | 34 CFR 668.6(b) | 1,950     | 1,950     | 1.5  | 2,925   | Reporting     |
| Sub-total  |                 | 9,291,936 | 9,291,936 |      | 370,049 | -             |
| Netferrer  |                 |           |           |      |         |               |
| Not-for profits  |                 |           |           |      |         |               |
| Private not-for-profit institutions - developing a<br>process to record student identifier information<br>for student who began or completed an<br>occcupational program and identify the<br>institutions location, identify CIP codes for<br>programs of study, the process to record<br>completion dates, the process to record<br>amounts of private loans and institutional<br>financing, and the process to determine if a<br>student has matriculated to a higher<br>credentialed program at the same institution or<br>another institution. | 34 CFR 668.6(a) | 1,736     | 1,736     | 12   | 20,832  | Recordkeeping |
| Private not-for-profit institutions - for students<br>who begin attendance in a program leading to<br>gainful employment, the reporting of student<br>identifiers, the location of the institution, and the<br>CIP codes for the programs during the 2006-<br>2009 period (3 AYs).   | 34 CFR 668.6(a) | 483,924   | 483,924   | 0.03 | 14,518  | Reporting     |

| Private not-for-profit institutions - for students<br>who complete their program of study - the<br>reporting of CIP codes, grad dates, amounts of<br>private and institutional loan debt, the amount<br>of title IV, HEA program debt, and whether the<br>student matriculated into a higher credtialed<br>program of study at the same or another<br>institution during the 2006-2009 period (3 AYs). | 34 CFR 668.6(a) | 100,881    | 100,881    | 0.08 | 8,070   | Reporting |
|--|-----------------|------------|------------|------|---------|-----------|
| Private not-for-profit institutions - for students<br>who begin attendance in a program leading to<br>gainful employment, the reporting of student<br>identifiers, the location of the institution, and the<br>CIP codes for the programs during the 2009-<br>2010 period (1 AY).  | 34 CFR 668.6(a) | 161,308    | 161,308    | 0.03 | 4,839   | Reporting |
| Private not-for-profit institutions - for students<br>who complete their program of study - the<br>reporting of CIP codes, grad dates, amounts of<br>private and institutional loan debt, the amount<br>of title IV, HEA program debt, and whether the<br>student matriculated into a higher creditaled<br>program of study at the same or another<br>institution during the 2009-2010 period (1 AY).  | 34 CFR 668.6(a) | 33,627     | 33,627     | 0.08 | 2,690   | Reporting |
| Private not-for-profit institutions - reporting of<br>SOC codes, O*Net info and programmatic cost<br>info via the institutions Web site  | 34 CFR 668.6(b) | 1,736      | 1,736      | 1.5  | 2,604   | Reporting |
| Sub-total  |                 | 783,212    | 783,212    |      | 53,554  |           |
| Total Private Sector   |                 | 10,075,148 | 10,075,148 |      | 423,603 |           |
| State, Local, or Tribal Governments  |                 |            |            |      |         |           |

| Public institutions - developing a process to<br>record student identifier information for student<br>who began or completed an occcupational<br>program and identify the institutions location,<br>identify CIP codes for programs of study, the<br>process to record completion dates, the process<br>to record amounts of private loans and<br>institutional financing, and the process to<br>determine if a student has matriculated to a<br>higher credentialed program at the same<br>institution or another institution. | 34 CFR 668.6(a) | 1,915     | 1,915     | 12   | 22,980  | Recordkeeping |
|---|-----------------|-----------|-----------|------|---------|---------------|
| Public institutions - for students who begin<br>attendance in a program leading to gainful<br>employment, the reporting of student identifiers,<br>the location of the institution, and the CIP codes<br>for the programs during the 2006-2009 period<br>(3 AYs).   | 34 CFR 668.6(a) | 4,026,291 | 4,026,291 | 0.03 | 120,789 | Reporting     |
| Public institutions - for students who complete<br>their program of study - the reporting of CIP<br>codes, grad dates, amounts of private and<br>institutional loan debt, the amount of title IV,<br>HEA program debt, and whether the student<br>matriculated into a higher credtialed program of<br>study at the same or another institution during<br>the 2006-2009 period (3 AYs).  | 34 CFR 668.6(a) | 624,873   | 624,873   | 0.08 | 49,990  | Reporting     |
| Public institutions - for students who begin<br>attendance in a program leading to gainful<br>employment, the reporting of student identifiers,<br>the location of the institution, and the CIP codes<br>for the programs during the 2009-2010 period<br>(1 AY).  | 34 CFR 668.6(a) | 1,342,097 | 1,342,097 | 0.03 | 40,263  | Reporting     |
| Public institutions - for students who complete<br>their program of study - the reporting of CIP<br>codes, grad dates, amounts of private and<br>institutional loan debt, the amount of title IV,<br>HEA program debt, and whether the student<br>matriculated into a higher creditaled program of<br>study at the same or another institution during<br>the 2009-2010 period (1 AY).   | 34 CFR 668.6(a) | 208,291   | 208,291   | 0.08 | 16,663  | Reporting     |

| Public institutions - reporting of SOC codes,  |                 |            |            |     |         |               |
|--|-----------------|------------|------------|-----|---------|---------------|
| O*Net info and programmatic cost info via the  |                 |            |            |     |         |               |
| institutions Web site  | 34 CFR 668.6(b) | 1,915      | 1,915      | 1.5 | 2,873   | Reporting     |
| Sub-total  |                 | 6,205,382  | 6,205,382  |     | 253,557 |               |
| Section B: Burden Impact Totals  |                 |            |            |     |         |               |
| Total  |                 | 16,280,530 | 16,280,530 |     | 677,160 |               |
| CURRENT INVENTORY  |                 |            |            |     |         |               |
| Current # of Respondents   |                 | 0          |            |     |         |               |
| Current # of Responses   |                 |            | 0          |     |         |               |
| Current Inventory of Hours   |                 |            |            |     | 0       |               |
| REVISED # OF RESPONDENTS   |                 | 16,280,530 |            |     |         |               |
| REVISED # OF RESPONSES   |                 |            | 16,280,530 |     |         |               |
| REVISED # OF BURDEN HOURS  |                 |            |            |     | 677,160 |               |
| TOTAL # RESPONDENTS  |                 | 16,280,530 |            |     |         |               |
| TOTAL # RESPONSES  |                 |            | 16,280,530 |     |         |               |
| TOTAL # HOURS  |                 |            |            |     | 677,160 |               |
| Difference   |                 |            |            |     | 677,160 |               |
| Section C: Burden by Regulation Group  |                 |            |            |     |         |               |
| 1. 34 CFR 668.6(a) - Developing a process to   |                 |            |            |     |         |               |
| record student identifiers students who begin or complete.                                       |                 |            |            |     |         |               |
| Individuals  |                 |            |            |     |         |               |
| Private Sector   |                 |            |            |     |         |               |
| Proprietary institutions - developing a process to identify CIP codes for programs of study      | 34 CFR 668.6(a) | 1,950      | 1,950      | 12  | 23,400  |               |
| Private not-for profit institutions - developing a process to identify CIP codes for programs of |                 | 1 700      | 1 700      | 10  | 20,022  |               |
| study  | 34 CFR 668.6(a) | 1,736      | 1,736      | 12  | 20,832  |               |
| State, Local, or Tribal Governments  |                 |            |            |     |         |               |
| Public institutions - developing a process to<br>identify CIP codes for programs of study        | 34 CFR 668.6(a) | 1,915      | 1,915      | 12  | 22,980  |               |
| TOTAL 34 CFR 668.6(a) - CIP code process   |                 | 5,601      | 5,601      |     | 67,212  | Recordkeeping |
|  |                 |            |            |     |         |               |

| 2. 34 CFR 668.6(a) - reporting on students who  |                 |            |            |      |         |           |
|---|-----------------|------------|------------|------|---------|-----------|
| begin a program during the 2006-2009 AYs  |                 |            |            |      |         |           |
| Individuals   |                 |            |            |      |         |           |
|   |                 |            |            |      |         |           |
| Private Sector  |                 |            |            |      |         |           |
| Business or other for-profits   |                 |            |            |      |         |           |
| Proprietary institutions - reporting information<br>on occupational training program completers,<br>including student identifiers, CIP codes,<br>program completion dates, amounts of private<br>education loans and institutional financing. | 34 CFR 668.6(a) | 5,989,779  | 5,989,779  | 0.03 | 179,693 |           |
| Not-for profits   |                 |            |            |      |         |           |
| Proprietary institutions - for students who begin<br>attendance in a program leading to gainful<br>employment, the reporting of student identifiers,<br>the location of the institution, and the CIP codes<br>for the programs                | 34 CFR 668.6(a) | 483,924    | 483,924    | 0.03 | 14,518  |           |
| State, Local, or Tribal Governments   |                 |            |            |      |         |           |
| Public institutions - reporting information on<br>occupational training program completers,<br>including student identifiers, CIP codes,<br>program completion dates, amounts of private<br>education loans and institutional financing.      | 34 CFR 668.6(a) | 4,026,291  | 4,026,291  | 0.03 | 120,789 |           |
| TOTAL for 34 CFR 668.6(a)(2)(iii) - reporting   |                 | 10,499,994 | 10,499,994 |      | 315 000 | Reporting |
|   |                 | 20,100,001 |            |      | 010,000 |           |
| 3. 34 CFR 668.6(a) - reporting on student who complete a program during the 2006-2009 AYs <b>Individuals</b>  |                 |            |            |      |         |           |
| Private Sector  |                 |            |            |      |         |           |
| Business or other for-profits   |                 |            |            |      |         |           |
|   |                 |            |            |      |         |           |
| Proprietary institutions - reporting information<br>on occupational training program completers,<br>including student identifiers, CIP codes,<br>program completion dates,amounts of private<br>education loans and institutional financing.  | 34 CFR 668.6(a) | 976,248    | 976,248    | 0.08 | 78,100  |           |
| Not former file   |                 |            |            |      |         |           |
| Not-for profits   |                 |            |            |      |         |           |

| Proprietary institutions - for students who begin<br>attendance in a program leading to gainful<br>employment, the reporting of student identifiers,<br>the location of the institution, and the CIP codes<br>for the programs<br>State, Local, or Tribal Governments             | 34 CFR 668.6(a) | 100,881   | 100,881   | 0.08 | 8,070   |           |
|---|-----------------|-----------|-----------|------|---------|-----------|
| Public institutions - reporting information on<br>occupational training program completers,<br>including student identifiers, CIP codes,<br>program completion dates, amounts of private<br>education loans and institutional financing.  | 34 CFR 668.6(a) | 624,873   | 624,873   | 0.08 | 49,990  |           |
| TOTAL for 34 CFR 668.6(a)(2)(iii) - reporting   |                 | 1,702,002 | 1,702,002 |      | 136,160 | Reporting |
| 4. 34 CFR 668.6(a) Reporting on student who<br>begin a program during the 2009-2010 AY<br>Individuals   |                 |           |           |      |         |           |
| Private Sector  |                 |           |           |      |         |           |
| Business or other for-profits   |                 |           |           |      |         |           |
| Proprietary institutions - for students who begin<br>attendance in a program leading to gainful<br>employment, the reporting of student identifiers,<br>the location of the institution, and the CIP codes<br>for the programs during the 2009-2010 period<br>(1 AY)              | 34 CFR 668.6(a) | 1,996,593 | 1,996,593 | 0.03 | 59,898  |           |
| Not-for profits   |                 |           |           |      |         |           |
| Private not-for-profit institutions - for students<br>who begin attendance in a program leading to<br>gainful employment, the reporting of student<br>identifiers, the location of the institution, and the<br>CIP codes for the programs during the 2009-<br>2010 period (1 AY). | 34 CFR 668.6(a) | 161,308   | 161,308   | 0.03 | 4,839   |           |
| State, Local, or Tribal Governments   |                 |           |           |      |         |           |
|   |                 |           |           |      |         | I         |

| attendance in a program leading to gainful<br>employment, the reporting of student identifiers,<br>the location of the institution, and the CIP codes<br>for the program of student student identifiers.<br>A CFR 668.6(a) 1.342,097 1.342,097 0.03 40.263<br>TOTAL for 34 CFR 668.6(a) - reporting students<br>who bega 2009-2010 3.40,263<br>TOTAL for 34 CFR 668.6(a) - reporting students<br>who bega 2009-2010 4.000 Reporting<br>students who complete a program during the 2009-2010 AV<br>Individuals 4.000 Reporting<br>Private Sector<br>Business or other for-profits 4.000 Reporting<br>COPPer the student who<br>complete their program of student who<br>complete their program of students who<br>complete their program of students who<br>complete their program of students who<br>complete their program of stude, the student<br>N. H-A program during the student of the<br>N. H-A program during the student of<br>study at the same or another institutions - for students<br>who complete their program of stude, the<br>student and stutional loan debt, the amounts of<br>private not-for-profit institutions - for students<br>who complete their program of stude, the<br>student and institutional loan debt, the amounts of<br>private and institutional loan debt, the amounts<br>private and institutional loan de |   |                 |           |           |      |         |           |
|--|---|-----------------|-----------|-----------|------|---------|-----------|
| TOTAL for 34 CFR 668.6(a) - reporting students 3,499,998 105,000 Reporting   TOTAL for 34 CFR 668.6(a) - reporting students 3,499,998 105,000 Reporting   5. 34 CFR 668.6(a) Reporting on student who<br>complete a program during the 2009-2010 AY Individuals Individuals   Private Sector Individuals Individuals Individuals   Proprietary institutions - for students who<br>complete their program of study - the reporting<br>of CIP codes, grad dates, amounts of private<br>and institutional loan debt, the amount of title<br>V, HEA program debt, and whether the student<br>study at the same or another institution for the<br>2009-2010 period (1 AY). 34 CFR 668.6(a) 325,416 325,416 0.08 26,033   Not-for profits Individuals Individuals Individuals Individuals Individuals   View Complete their program of study - the amount of<br>private and institutional loan debt, the amount of<br>priv  | Public institutions - for students who begin<br>attendance in a program leading to gainful<br>employment, the reporting of student identifiers,<br>the location of the institution, and the CIP codes<br>for the programs during the 2009-2010 period<br>(1 AY).  | 34 CFR 668.6(a) | 1,342,097 | 1,342,097 | 0.03 | 40,263  |           |
| who began 2009-20103,499,9983,499,9983,499,998105,000Reporting5. 34 CFR 668.6(a)Reporting on student who<br>complete a program during the 2009-2010 AYIndividualsImage: Complete a program during the 2009-2010 AYImage: Complete a program during the 2009-2010 AYIndividualsImage: Complete a program during the 2009-2010 AYImage: Complete a program during the 2009-2010 AYImage: Complete the program during the 2009-2010 AYPrivate SectorImage: Complete the program do study. the reporting<br>of CIP codes, grad dates, amounts of private<br>and institutional loan debt, the amount of title<br>tW, HEA program dot study. the reporting<br>of CIP codes, grad dates, amounts of private<br>adding the same or another institution for the<br>2009-2010 period (1 AY).34 CFR 668.6(a)325,416325,4160.0826,033Private not-for-profitsImage: Complete their program of study. the<br>reporting of CIP codes, grad dates, amounts of<br>private and institutional debt, the amount of<br>the program of study. the<br>reporting of Study at the same or another<br>institution for the<br>2009-2010 period (1 AY).34 CFR 668.6(a)325,416325,4160.0826,033Private and institutional debt, the amount<br>of title VI, HEA program debt, and whether the<br>student matriculated into a higher creditaled<br>program of study. the<br>reporting of Study. The<br>reporting of CIP codes, grad dates, amounts of<br>private and institutional debt, the amount of<br>private and institutional debt, the amount<br>of title VI, HEA program debt, and whether the<br>student matriculated into a higher creditaled<br>program debt, and whether the<br>student matriculated into a higher creditaled<br>program debt, and whether the<br>student matriculated   |   |                 |           |           |      |         |           |
| complete a program during the 2009-2010 AYImage: Complete a program during the 2009-2010 period (1 AY).Image: Complete a program of study - the reporting of CIP codes, grad dates, amounts of private sectorImage: Complete a program of study - the reporting of tudy - the reporting of CIP codes, grad dates, amounts of private sectorImage: Complete a program of study - the reporting of tudy - the reporting of CIP codes, grad dates, amounts of private sectorImage: Complete a program of study - the reporting of tudy - the reporting of CIP codes, grad dates, amounts of private and their program of study - the reporting of tudy at the same or another institutional codes, grad dates, amounts of study - the reporting of CIP codes, grad dates, amounts of study - the reporting of CIP codes, grad dates, amounts of reprivate and institutional tudy at the same or another institution of study - the reporting of Study at the same or another institution of tude the amount of title IV, HEA program debt, and whether the stude the amount of study at the same or another institution during the 2009-2010 period (1 AY).Complete the complete the program of study - the reporting of CIP codes, grad dates, amounts of reprivate and institutional loan debt, the amount of stude the reporting of Study at the same or another institution during the 2009-2010 period (1 AY).Complete the reporting of Stude the same or another institution during the 2009-2010 period (1 AY).Complete the reporting of Stude the reporting of Stude the same or another institution during the 2009-2010 period (1 AY).Complete the reporting of Stude the same or another institution during the 2009-2010 period (1 AY).Complete the reporting of Stude the same or another institut   | TOTAL for 34 CFR 668.6(a) - reporting students who began 2009-2010  |                 | 3,499,998 | 3,499,998 |      | 105,000 | Reporting |
| Private Sector   Image: Constraint of the sector students who complete their program of study - the reporting of CIP codes, grad dates, amounts of private and institutional loan debt, the amount of tilled IV, HEA program debt, and whether the student matriculated into a higher creditaled program of study - the reporting of CIP codes, grad dates, amounts of private and institutions - for students who complete their program of study - the reporting of CIP codes, grad dates, amounts of private and institutions - for students who complete their program of study - the same or another institutions - for students who complete their program of study - the reporting of CIP codes, grad dates, amounts of private and institutional loan debt, the amount of tile V. HEA program debt, and whether the student matriculated into a higher creditaled program of study at the same or another institution during the 2009-2010 period (1 AY).   34 CFR 668.6(a)   325,416   325,416   0.08   26,033     Not-for profits   Image: student matriculated into a higher creditaled program of study - the reporting of CIP codes, grad dates, amounts of private and institutional loan debt, the amount of tile V. HEA program debt, and whether the student matriculated into a higher creditaled program of study at the same or another institution during the 2009-2010 period (1 AY).   34 CFR 668.6(a)   33,627   33,627   0.08   2,690   | 5. 34 CFR 668.6(a) Reporting on student who complete a program during the 2009-2010 AY  |                 |           |           |      |         |           |
| Business or other for-profitsImage: constraint of the const  | Individuals   |                 |           |           |      |         |           |
| Business or other for-profitsImage: constraint of the const  | Directo Oceatory  |                 |           |           |      |         |           |
| Proprietary institutions - for students who<br>complete their program of study - the reporting<br>of CIP codes, grad dates, amounts of private<br>and institutional loan debt, the amount of title<br>IV, HEA program debt, and whether the student<br>matriculated into a higher creditaled program of<br>study at the same or another<br>2009-2010 period (1 AY).<br>Not-for profits<br>Private not-for-profit institutions - for students<br>who complete their program of study - the<br>reporting of CIP codes, grad dates, amounts of<br>private and institutional loan debt, the amount<br>of title IV, HEA program debt, and whether the<br>student matriculated into a higher creditaled<br>program of study at the same or another<br>institution during the 2009-2010 period (1 AY).<br>34 CFR 668.6(a) 33,627 33,627 0.08 2,690  |   |                 |           |           |      |         |           |
| complete their program of study - the reporting<br>of CIP codes, grad dates, amounts of private<br>and institutional loan debt, the amount of title<br>IV, HEA program debt, and whether the student<br>matriculated into a higher creditaled program of<br>study at the same or another institution for the<br>2009-2010 period (1 AY).34 CFR 668.6(a)<br>325,416325,4160.0826,033Not-for profitsPrivate not-for-profit institutions - for students<br>who complete their program of study - the<br>reporting of CIP codes, grad dates, amounts of<br>private and institutional loan debt, the amount<br>of title IV, HEA program debt, and whether the<br>study at the same or another<br>institutional loan debt, the amount<br>of title IV, HEA program debt, and whether the<br>study at the same or another<br>institutional loan debt, the amount<br>of title IV, HEA program debt, and whether the<br>study at the same or another<br>institution during the 2009-2010 period (1 AY).34 CFR 668.6(a)33,62733,6270.082,690  | Business or other for-profits   |                 |           |           |      |         |           |
| Private not-for-profit institutions - for students<br>who complete their program of study - the<br>reporting of CIP codes, grad dates, amounts of<br>private and institutional loan debt, the amount<br>of title IV, HEA program debt, and whether the<br>student matriculated into a higher creditaled<br>program of study at the same or another<br>institution during the 2009-2010 period (1 AY). 34 CFR 668.6(a) 33,627 33,627 0.08 2,690   | Proprietary institutions - for students who<br>complete their program of study - the reporting<br>of CIP codes, grad dates, amounts of private<br>and institutional loan debt, the amount of title<br>IV, HEA program debt, and whether the student<br>matriculated into a higher creditaled program of<br>study at the same or another institution for the<br>2009-2010 period (1 AY).               | 34 CFR 668.6(a) | 325,416   | 325,416   | 0.08 | 26,033  |           |
| Private not-for-profit institutions - for students<br>who complete their program of study - the<br>reporting of CIP codes, grad dates, amounts of<br>private and institutional loan debt, the amount<br>of title IV, HEA program debt, and whether the<br>student matriculated into a higher creditaled<br>program of study at the same or another<br>institution during the 2009-2010 period (1 AY). 34 CFR 668.6(a) 33,627 33,627 0.08 2,690   | Not-for profits   |                 |           |           |      |         |           |
| State, Local, or Tribal Governments  | Private not-for-profit institutions - for students<br>who complete their program of study - the<br>reporting of CIP codes, grad dates, amounts of<br>private and institutional loan debt, the amount<br>of title IV, HEA program debt, and whether the<br>student matriculated into a higher creditaled<br>program of study at the same or another<br>institution during the 2009-2010 period (1 AY). | 34 CFR 668.6(a) | 33,627    | 33,627    | 0.08 | 2,690   |           |
|  | State, Local, or Tribal Governments   |                 |           |           |      |         |           |

| Public institutions - for students who complete<br>their program of study - the reporting of CIP<br>codes, grad dates, amounts of private and<br>institutional loan debt, the amount of title IV,<br>HEA program debt, and whether the student<br>matriculated into a higher creditaled program of<br>study at the same or another institution during<br>the 2009-2010 period (1 AY). | 34 CFR 668.6(a) | 208,291 | 208,291 | 0.08 | 16,663 |           |
|---|-----------------|---------|---------|------|--------|-----------|
| TOTAL for 34 CFR 668.6(a) - reporting students who completed a program in 2009-2010   |                 | 567,334 | 567,334 |      | 45,387 | Reporting |
| 6. 34 CFR 668.6(b) - disclosures  |                 |         |         |      |        |           |
| Individuals   |                 |         |         |      |        |           |
| Private Sector  |                 |         |         |      |        |           |
| Business or other for-profits   |                 |         |         |      |        |           |
| Proprietary institutions - reporting of program<br>names and SOC codes, grad rates, cost<br>information and placement rates, and median<br>debt incurred by students who completed the<br>program for the preceding three years. The<br>institution must separate the median loan debt<br>from private educational loans and institutional<br>financing.                              | 34 CFR 668.6(b) | 1,950   | 1,950   | 1.5  | 2,925  |           |
| Not-for profits   |                 |         |         |      |        |           |
| Private not-for profit institutions - reporting of<br>program names and SOC codes, grad rates,<br>cost information and placement rates, and<br>median debt incurred by students who<br>completed the program for the preceding three<br>years. The institution must separate the median<br>loan debt from private educational loans and<br>institutional financing.                   | 34 CFR 668.6(b) | 1,736   | 1,736   | 1.5  | 2,604  |           |
| State, Local, or Tribal Governments   |                 |         |         |      |        |           |
|   |                 |         |         |      |        |           |

| Public institutions - reporting of program names<br>and SOC codes, grad rates, cost information<br>and placement rates, and median debt incurred<br>by students who completed the program for the<br>preceding three years. The institution must<br>separate the median loan debt from private<br>educational loans and institutional financing. | 34 CFR 668.6(b) | 1,915      | 1,915      | 1.5 | 2,873   |           |
|--|-----------------|------------|------------|-----|---------|-----------|
| TOTAL for 34 CFR 668.6(b)  |                 | 5,601      | 5,601      |     | 8,402   | Reporting |
| Total for Recordkeeping  |                 | 5,601      | 5,601      |     | 67,212  |           |
| Total for Reporting  |                 | 16,274,929 | 16,274,929 |     | 609,948 |           |
| GRAND TOTAL  |                 | 16,280,530 | 16,280,530 |     | 677,160 |           |